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Kent Business School


       Logistics and Supply Chain Management (CB996)

Assessment 2 (Task 3)
(To be handed by 4pm on Thursday 22nd January 2015:

Canterbury students:  KBS PG Office 

Medway students: Business School Medway student office) 

This homework is made up of 2 parts: In Part 1 (40%), you are required to do the two technical exercises which are equally weighted (20% each) whereas in Part 2 (60%) you create your own supply chain by designing your  new product (products). 
Part 1 (2 technical exercises) [40]
Exercise 1 (20)

The LondonStore Logistic company is exploring whether to renew the rent of their warehouses in London through a standard lease for the next three years or using the spot market. The company expects a demand of 5000 units per annum and each unit requires an area of 2m2. The selling price is estimated at £18 per unit. The company strategy is either to lease all of its space or nothing. The distribution manager can buy the space on the spot market at £6.75 per m2 or sign a 3 year deal at £6.50 per m2 to lease a 10,000m2 warehouse space and buy the remaining space from the spot market if necessary. Consider the discount rate to be 7%.

(a) Assume there are no uncertainties; use the concept of Net Present Value (NPV) to select the most financially viable option to whether to opt for a 3 year deal or to use the spot market. Calculate the NPV using both Excel Function and also manually. Does your decision change if the spot market goes up or down?







 [4]

(b) Comment on your decision found in part (a) by highlighting issues that are worth considering.










  [2]

(c) The logistic unit of the company estimated that the demand will remain constant the second year but can go up by 8% as well as down by 5% in the third year while the spot price of the product can go up by 15% and can go down by 10% every year. The team considers that both the spot price and the demand are independent from each other.

Turn over please

(i) Construct the decision trees to reflect the different scenarios for both the spot market and the fixed lease by writing down all the necessary information.
  

[4]

(ii) Using decision analysis, determine the best option by showing your working clearly.








          

[10]
Exercise 2 [20]
The European Freight Mover Logistic company (EFML) transports American fridges between plants and retailers throughout Europe. The company is re-examining the size of their owned fleet as any shortfall is usually covered by expensive hired ones from a third party.   To do that the company has recorded their monthly number of fridges transported for the last 12 months which are shown in Table 1.
	Month
	# Fridges

	Jan
	     252

	Feb
	274

	March
	284

	April
	300

	May
	306

	June
	308

	July
	296

	August
	290

	September
	294

	October
	302

	November
	318

	December
	332


Table 1. Monthly number of fridges (in 100)

(i) Plot a suitable graph of the number of fridges transported vs the months in Excel. Comment on the chart type used and the trend in the number transported.

[2]



(ii)  Use the trend-corrected exponential smoothing (Holt’s method) with
[image: image1.wmf]0.3and 0.5

ab

==

to calculate by hand the forecast for all the months and find the forecast for next January (month 13).


              
   

[3]
Turn over please

(iii) Use Excel to do the following: 







· Check your results with those found in (ii) and generalise your results by producing a data table with  
[image: image2.wmf][0,1]and [0,1]

ab
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 using a step size of 0.1 for both parameters.






  
 [3]
· Apply Excel solver to find the optimal values of 
[image: image3.wmf]and 

ab

where  
[image: image4.wmf][0,1]and [0,1]

ab
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 using MSE as your objective function. Explain your working clearly (we did this part manually)





[4]
· Obtain the best forecast by adopting the simple exponential smoothing using Excel solver with MSE as your measure of performance.
             
[2]
· Get the forecast using a 4 weeks moving average.


  
[2]
(iv) Derive the following forecasting measures: MAD, MAPE, TS, and the U test. 
[2] 
(v) Provide necessary charts to show your results clearly and comment on the impact on their results on their strategic decision for their Supply Chain.                              [2]
Part 2 (Design of your own supply chain) [60]

You are asked to design your own supply chain for launching a new product in a competitive environment. You need to explain the following items as set below. Your report needs to be written in a concise manner and should be between 1500 and 2500 words excluding references, tables and figures.

(i) Your product and  your competitive strategy while highlighting your strategic fit, your possible competitors, and the main decision phases.  


[20]

(ii) Each driver of your supply chain and how it links with others.


 [25]
(iii) Your distribution network system by highlighting the facilities, type and mode of transport as well as the necessary information flow network. 


 [10]

(iv) The factors that may cause disruption to your supply chain. Propose some ideas that may be worth incorporating to reduce the risk due to uncertainty. Consider one particular factor that you will use in such circumstances and which you consider to be vital to the success of your SC.





  [5]

4.1
SUPPLY CHAIN TRIAD 
1. Disruption Discovery - What type of intelligence does a firm need to detect disruptions?

2. Disruption Recovery - Once the disruption is discovered, how does a firm effectively recover from a disruption?

3. Supply Chain Redesign - How can a company strategically re-design its supply chain over time to become more resilient and avoid or easily mitigate disruptions?


SUPPLY CHAIN REDSIGN





DISRUPTION RECOVERY





DISRUPTION DISCOVERY
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